gleach Analysis
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2. In today's chemical analysns of bleach solution, whal substance is
oxidized by the hypochlonte ion?

ion?

3. What are the formulas of sodium thiosulfate and hypochlon
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4 Does sodium thiosulfate serve as an oxidizing agent or as a
reducing agent? What does sodium thiosulfate reduce?
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B. Analysis of bleach solution
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QUESTIONS

1.A ‘l_(}_._QmL bleach sample is diluted to 100 mL in a volumetric flask. A
25.0 mL of this solution is analyzed according to the procedure in this
experiment. If 12.5 mL of 0.30 M Na,S,0, is needed to reach the end

point, calculate the mass percent of NaClO in the original sample?
(Assume the density of bleach solution is 1.084 g/mL).
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2. A bleach solution that is 6.58% NaClO (density= 1.10 g/mL) was diluted
to 0.056 M concentration. Calculate dilution factor. '
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